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ZU/WI/7/EXM/7
UNIVERSITY EXAMINATION 2014/2015

YEAR II SEMESTER I EXAMINATION FOR BACHELOR OF BUSINESS ADMINISTRATION AND MANAGEMENT

FINA 201:  FINANCIAL MANAGEMENT
AUG 2015                                                     
                                                TIME: 2 HOURS   
INSTRUCTIONS: Answer Question ONE and any other TWO.

QUESTION ONE 

a) Explain four decisions that define the scope of financial management 

(8marks)                                                         

b)    Explain features of a sound project appraisal                                                            
(4 marks)

c)      Company XYZ Ltd has identified a project which will cost 150,000 and forecasts that this project will generate the following returns
       Year1                            80,000

        Year2                            70,000

         Year3                            60,000

The company will pay an interest rate of 15% p.m

Required:

                     Compute the NPV for the project and advice the company                       (8marks
d) Highlight the factors which determine the working capital needs of a firm               
(6 marks)

e) Describe  the  following  sources of funds 





( 4 marks)

I. Bills of exchange 

II. Hire purchase  

III. Bank loan

IV. Sale and lease-back
QUESTION TWO

 ABC Ltd can invest  in one of the following two projects , A and  B which has initial cash outlay of 1000,000 and will pay an interest rate of 10% on these projects. Each of the two projects will generate the following cash flow

            YEAR                                                  PROJECT A                                                  PROJECTB

               1                                                    500,000                                                         600,000

                2                                                       40,000                                                        160,000

                3                                                      100,000                                                       40,000

                 4                                                    60,000                                                           500,000

                 5                                                     160,000                                                       100,000

Required

i)  Payback period

ii) NPV
iii) Advise management accordingly                                                                         (12 marks)

  IV)        Explain the merits and demerits of NPV
                                        
(8 Marks)

QUESTION THREE

 The following is the capital structure of XYZ ltd as at 31.12. 2014

                                                                                                                                                 KSh. M

Ordinary share capital khs10     par value                                                                      
 400

Retained earnings                                                                                                                     200

10%preference shares capital KHS20 par value                                                               
 100

12% Debenture KSh 100 par value                                                                                          200

Additional information 

i) Corporate tax rate is 30%

ii) Preference shares were Issued 10yrs ago and are still selling at par value MPS= par value

iii) The debenture has a 10 year   maturity. It is  currently seIling  at ksh 90 in the market the

iv) Currently  the firm  has been paying dividend  per  share of  KHS 5.The DPS  is expected  to grow at 5%  p.a  in  future. The current MPS IS ksh 40

Required

Determine the WACC                                                                                          (20 marks)

QUESTION FOUR

a) Explain the main goals of a firm                                                                                           (6 marks)

b) The following information is provided in respect to the affairs of Pote Ltd which prepares its accounts on the calendar year basis 

                                                                                                2015                                 2014

Sales                                                                                       600,000                           600,000

Purchases                                                                              400,000                           350,000

Cost of Sales                                                                          360,000                          330000

Stock at 31 Dec                                                                     100,000                          60,000

Debtors at 31Dec                                                                    98,000                          102000

Creditors at 31Dec                                                                  40,000                          25,000

Total Assets at 31DEC                                                            300,000                        185,000

Required

Calculate cash operating cycle and state how to shorten the cycle 
(14 Marks)

